E#H A :2023/3/1

[No. ] LOAVE | BEEH [B58K] #5858 | #5H 12— H)
[0 ] F42¥ /L EE60(3W) | Feaxtil | & [ 60mg/m | d1 | 21 |
[No.] LA 2 | #5EH [B5&E] B58 | #5H [12—2ERE(E)
] F+ 537U Bih25 (458) | Feaxwi | & | 25mg/m | d1.8.15 [ 28 |
[No. ] LOAVE | BEEH [B58K] B58 | #5H [1a—=#E(H)
59 | F—EZyHREH (FE) | 7—E&y9x | A& | 400me/mi | d1 [ 7 |
[No.] LA 2 | #5FH [B5&E] K58 | #5H [12—2ERE(H)
[(60 | 7—E Ry o B (2[E B W) | 7—E%vozx | A& | 250mg/m | di [ 7 |
[No. ] LOAVE [ BEEH [B58K] #5858 | #5H [1a—=#E(H)
[80] THOTSEM | 7575 =% | 100mg/nd | d1 [ 28 |
No. LOA % ﬁffﬁu BEER| HBEE #5H 12— ER (B)
N s FE42%t)L s 60mg/m
86 RE2%t/L60+hILRTSFAUCS PRI T =¥ ALGH d1 21
[No.] LA S | #B5FH [B5&E] K58 | #5H [12—2ERE(E)
[114] BB A1) 10+HRETH IR EE (6:8) | FEaftL | S 10mg/m | d1,8,15,22,29,36 | 42 |
No. LOAE &gﬁﬁﬂ 1&21‘%‘%% BE5E #5H 10— ER (B)
N S SYRITSFV =¥ 80mg/m di
115 SFHSRT 55280 SLATISIIL] S | 700mg/m di-5 2
[No. ] LOAVE | BEEH [B58K] #5858 | #5H [1a2—=#E(H)
[120] SRISF RS REE [ 227552 | &% | 80mg/mi | d1 [ 21 |
No. LOA % ﬁ—;}}%ﬁu ﬁiﬁﬁ% BE5E #5H 12— EAR (B)
s == P SRISFY 20mg/m di-4
121 SFU+S R T SF 20+ R STHR R % S AaSonl A | 400me/m pr 28
No. LOA % ﬁf;%ﬁﬁu ﬁiﬁﬁ% &E5E #5H 12— EAR (B)
PN HIVRTISFY | & AUC6 di
122 5FU+HLARTS5FAUCE SAFEB5S L] sE | 700me/ T pr 21
No. LOA % ﬁffﬁu ﬁiﬁﬁ% B&E5E #5H 12— ER (B)
R — N FEaxt)L 60mg/m di
165 CDDP80+DTX60( > R F5F > 80+K 4 ++)L60] S SEED] i 80mg/m pr 28
No. LOA % BEEE |[BE5RK] B5S #5H 12— ER (B)
7—% AYYR =i | 400mg/m d1
A SRISFY e 80mg/m d1
201 7—E #v% X+5FU+CDDP(#][E) S F OS5I fiE | 700me/m T 21
T—EZYHR A [ 250mg/m dg,15
No. LOA % BEEE |[HE5RK] B5S #5H 12— EAR (B)
T—EZYHR =i | 250mg/m d1,8,15
202 7—E %949 Z+5FU+CDDP(2[El B LAK%) YRIZGFY =l 80meg/m d1 21
ILAEADSIIL] S | 700meg/mi d1-5
[No. ] LoAVE [ BEZEH [B58K] B58 | #5H [1a2—=#E(H)
[204] /1891) 3%+ )LEH100 [ /85ys%tE)L | A& | 100me/mi | d1.8.15 | 28 |
No. LOA % BEEE |[HE5RK] B5S #5H 12— EAR (B)
R2Ex+IL s 60mg/m d1
218| CDDP60+DTX60+5FUB00( R F5F > 60+K 43+ )L60+5FU600] YRIZGFY =l 60mg/ m d1 21
ILAEDSIIL] S | 600meg/mi d1-5
No. LOAE BEEH |[BEEK| KB5S #5H 10— ER (B)
T—EZYHR S | 400mg/m di
251 F—EZYIZ+1891) 2% )L(HE) DL I 80mg/m | d1.8,15.22,29,36 49
T—EZYHR =iE | 250meg/mi | d8,15,22,29,36,43
No. LOA % ﬁ%;;%zﬁu ﬁiﬁﬁ% BE5E #5H 12— ER (B)
A o R F7—ESvOR | i 250mg/m_| d1,8,15,22,29,36,43
252 T—EZYIR+1391) 2% 4)L(2[E B L) G hawL | A B0ma/m | d18.1522.29.36 49
[No.] LA E | #B5FH [B5&E] K58 | #5H [12—2ERE(H)
[259] ESRIRTSFUOET [ 2255y | #F [ 100me/md | di [ 21 |
[No. ] LOAVE [ BEEH [B58K] B58 | #5H [1a2—=#E(H)
[274] HEE2/IRTSFUETHREE6R | >2T5F> FE | 100mg/m | d1,8.1522 | 49 |
[No.] LA 2 | #5EH [B5&E] K58 | #5H [12—2ERE(H)
[298] AT —REE [ #F>—K | & | 240mg | d1 | 14 |
[No. ] LOAVE [ BEZEH [B5EK] #5858 | #5H [1a—=#E(H)
[299] AT —REH| GBBUE X %K) [ #F>—K mE [ 240mg | di [ 14 |
No. LOA % BEEE |[HE5RK] B5S #5H 12— HAR (B)
T—EZYHIR =i | 400mg/m d1
A S5 s T—EZYHR S | 250mg/m dg,15
304 T—E 2y HR+5FU+AILIR T SF U (FED) AT T miE AUGS o 21
ZNABEDSIIL] S | 700mg/nt di-5




No. LA BEEE [BE5RE] B58 #5H 12—RHE(H)
T—EZYHR S | 250mg/m d1,8,15
305 F—E 29I ZR+5FU+HILIRTSF (20 B LIRE) HLVKRISFY | S AUC5 d1 21
ZLABEDSIIL] S | 700mg/nt di-5
[No. | LA H | #5FH [B5&E] K58 | #5H [12—2ERE(H)
[311] weekly> 2 TS5 F 30+ Bigt g Bt [ 225572 | & | 30mg/m | d1.8.15 [ 28 |
[No. ] LOAE | BEZEH [B58K] #5858 | #5H [1a—2EREE)
[316] FAML—F B [ FAPL—%& S% | 200mg | di [ 21 |
No. LA B BEEE |[BE5RKE] B5S #5H 12— HR (B)
X FAL—H R 200mg d1
382 FA+JL—4 +5-FU+CDDPHE X SRIZGFY =l 80meg/m d1 21
ILAEADSIIL] S | 700meg/mi di-5
[No. ] LOAVE _ [ #E5EH [REER] #5658 | #5H [1a—2EREE)
[ 388] AL —F B[ 6:ERR] [ F4b—% | =i [ 400mg | di [ 42 |
[No. | LOA & | #5EH [B5&E] B58 | #5H [12—2ERE(H)
[389] AT —RE[4BRER] | #90—K | & [ 480mg | d1 | 28 |
[No | _ LoAA | BEEA [BERR] B58 | BE5H EEEZE G
[390] AT —RE ¥ GREUE X %) (48R ] | #F5—K | & | 480mg | d1 [ 28 |
[No. | LoAH | #5FH [B5&E] K58 | #5H [12—2ERE(E)
[396] S RTSF 100+ EH IR B | 22F5F> A | 100mg/m | d1 [ 21 |
No. LA H%%ﬁu Hi}%‘% BE58 #5H 12—RHM(H)
— e = R N—tIFy £l 8mg/kg di
435 N—tTFU+Reax)L GEHEHN A PE) EE=T = Tomg/m pT 21
No. LA % H%%ﬁu Hi}%‘% BE58 #5H 12—RHM (H)
_ o 5 N N N—tITF £l 6mg/kg di
436 N—ETFo+FtE451)L CEREHH A, 20 B L) EE=T = Tomg/m pT 21




